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byte 8bit 43+(integer) -128~127
short 16bit Z+(integer) -32,768~32,767
- 4
int 32bit Z%(integer) 2,147,483,648
~2,147,483,647
-9,223,372,036,854,775,808
long 64bit Z+(integer) T
~9,223,372,036,854,775,807
AxE *1.4e-45
float 32bit #5_ =
(floating point) ~+3,4028235e+38
HEEsA+H *4.9e-324
double 64bit 5 =
(floating point) ~21,7976931348623157e+3088
boolean HE =2|(Boolean) true, false
char 16bit # 2t (character) "\udooa'~"\uffff’

int

HIOlE] EF

name;

H=0| OIF
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abstract assert boolean break byte
case catch char class const
continue default do double else
enum extends final finally float
for goto if implements import
instanceof int interface long native
new package private protected public
return short static strictfp super
switch synchronized this throw throws
transient try void volatile while

xheto] 0f 2o
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1: public class Example {
2 public static void main(String[] args) {
3 int ten = 19;
4 byte ten2 =(@b1010;) v 2% % By
5 short ten8 = e B o B
6 int tenl6 =(BxA;) w1675 B
7 long longNumber = 3008080000L;
8
9 System.out.println(ten);
10 System.out.println(ten2);
11 System.out.println(ten8);
12 System.out.println(tenl6);
13 System.out.print1ln(longNumber);
TR

[
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-

OZ int EfR= ArESIH 22| HLR0| M2l byte, short, long

10
10
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10
3000000000




. public class Example {

public static void main(String[] args) {
double pi = 3.14;
double pie = 314e-2;
float pif = 3.14f;
float pief = 314e-2f;

System.out.printin(pi);
System.out.printin(pie);
System.out.println(pif);
System.out.println(pief);

O £ double Efgil=2 AIE5t1 4f2

3.14
3.14
3.14
3.14
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public static void main(String[] args) {
char cNumber = 97;

aAs
T
1 | public class Example {
N
3
4
5
6
7
8
9

char cAlphabet = 'a’; m
char cUnicode = '\u@@6l’;
char cHan = "8t°; a
char cYou = "’; a
: System.out.println(cNumber); @

10 g System.out.println(cAlphabet); o

1 2 System.out.println(cUnicode); v

12 % System.out.println(cHan);

13 2 System.out.println(cYou);

14 }

15}
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public class Example {
public static void main(String[] args) {
boolean TRUE = true;
boolean FALSE = false;

P
|.

H boolean EI= ArEch
of o= QUCH

System.out.println(TRUE);
System.out.println(FALSE);

true

false
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byte Byte.MIN_VALUE Byte.MAX_VALUE
short Short.MIN_VALUE Short.MAX_VALUE

int Integer.MIN_VALUE Integer.MAX_VALUE

long Long.MIN_VALUE Long.MAX_VALUE
float Float.MIN_VALUE Float.MAX_VALUE
double Double.MIN_VALUE Double.MAX_VALUE
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public class Example {
public static void main(String[] args) {
byte byteMin = Byte.MIN_VALUE;
byte byteMax = Byte.MAX VALUE;

short shortMin
short shortMax

Short.MIN_VALUE;
Short.MAX_VALUE;

int intMin = Integer.MIN_VALUE;
int intMax = Integer.MAX VALUE;

long longMin = Long.MIN_VALUE;
long longMax = Long.MAX_VALUE;

float floatMin = Float.MIN_VALUE;
float floatMax = Float.MAX_VALUE;

double doubleMin
double doubleMax

Double.MIN_VALUE;
Double.MAX_VALUE;

System.out.println(byteMin+" ~ “+byteMax);
System.out.println(shortMin+" ~ “+shortMax);
System.out.println(intMin+" ~ “+intMax);
System.out.printiln(longMin+" ~ “+longMax);
System.out.println(floatMin+" ~ “+floatMax);
System.out.println(doubleMin+"” ~ "“s+doubleMax);

-128 ~ 127

-32768 ~ 32767

-2147483648 ~ 2147483647
-9223372036854775808 ~ 9223372036854775807
1.4E-45 ~ 3.4028235E38

4.9E-324 ~ 1.7976931348623157E308

10



O

I
|Iff=
H
H0

W 0 N O b W N e

HO|E Bel= E0l7I= 40| B0 Y= 857 BHre MU= = &
S B ofX| Xotht Ol2{et &= =2 HO|H7t 2LH S =% (Overflow) Xl
ACH D StLt,

§ public class Example {
public static void main(String[] args) {

byte x= Byte.MAX_VALUE;

System.out.println(x); m

127
-128

=78 A3

,—‘\ ) , — 3
| X#+; T i I U F T

System.out.println(x);
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public class Example {

public static void main(String[] args) {

int intNumber = 209;
double doubleNumber = 3.141592;

System.out.println((short)intNumber);

System.out.println((byte)intNumber);
System.out.println((int)doubleNumber);

200

LJ

12
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1 public class Example {

2 : public static void main(String[] args) {

3 int intNumber = 200;

4 . double doubleNumber = 3.141592; m
5 200

6 : System.out.println((short)intNumber); 56

7 System.out.println((byte)intNumber); 3

8 System.out.println((int)doubleNumber);

9 }

10 : }
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public class Example {

public static void main(String[] args) {

int intNumber ;

double doubleNumber;

intNumber = 3/4;
doubleNumber = 3/4;

System.out.println(intNumber);

System.out.printin(doubleNumber);

14
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public class Example {
public static void main(String[] args) {

double doubleNumber;

b - % A . ’ ' O -
doubleNumber = 3/(double)d;) e Syt st iz At R5fof Ciiol B Bi9) § 7%

System.out.println(doubleNumber);

doubleNumber = (3.9/4;: v M- 3§ H 300 ¢
System.out.println(doubleNumber);

8.75
8.75

15



